N (shEl ) HURAPRA S
GSD Industrial Co.,Ltd.

RSW/TRS
BIES XML

www.gsd.net.cn




| RSW/TRS HEE B RMHL
RSW/TRS pressure boost roots blower

I A Suction inlet

[

[=3E Theory

RSW/TRSIBE & A2 —MBERAKAI, HEHNZ
AIRHE A PR EREAVTREERMLLET, =T
WERBE M ESER T EEERIE, £HRS
ME, MRS R E AR NERAPIRS T % .

HHBREIBAGN, SREZEHR-—EENES,
MErtARtIER:, =EMN®, EOBHTIESHEEEE O5.
TRSIZBENHLEMERENNL, B ERSWHAILHEM .

H—BRRSWRIWIH AT A DumfY, 5z 8tz
—EBNTS, BHEREE, =SB, EOXEGTT
EBEEELAN, TR REEHNCESERE, B
HR BB 5 —um Bt A ERRSWKAL, B —BRRATLAY
ARE|H A ST RIEE.

RSW/TRS is a displacement blower, the pressure can be
adjusted according to the requirement of the user in
allowing range, there are two impellers in the blower body
which rotate in the opposite direction, in order to let the
impeller rotate, there are some tiny gap between the
impeller to body, impeller to impeller. When the impeller
rotates through the suction inlet, it can gather an amount
of air between the body and impeller, then the impeller
go on rotating, and the air will be pressured, the pressure
in the body will rise, finally the air has been send to the
outlet.

TRS is two-stage pressure boost roots blower, it combine
with two sets RSW. When the impeller of the one-stage
RSW blower rotates through the suction inlet, it can gather
an amount of air between the body and impeller, then
the impeller go on rotating, the air will be send to the
outlet to finish the first pressurize, after being cooled in
the condenser, the air enter the two-stage RSW blower
to finish the second pressurize from the suction inlet to
outlet.

) o

4% 5 Features

REFEIEE K.

042 : 50mm~300mm (2"~12")

X & : RSW 2.5~171.1m3/min; TRS 1.14~166.49m3/min

EH: —ETXRSWHIATIA10000mmAq (1.0kgf/cm?)
BB TRSEIATA20000mmAq (2.0kgf/cm?)

HEESETERS.

MBI EERIE, IREMERE .

RERE, ENTERMZE0/N.

FHRMH IR, SRR,

ISR RRE, TRk,

FR—RMBER, BES, Fok, KRS

ERRMAEE, L.

MK A sET < 18RS Hn T,

WMHE, HABERZHEE.

HAEMAOSEIETT, ATAERA BB EANNIES

HURE, WIRKIEEETHAMERNERS .

TRSE A R REOETT, B RIEE, FEXNZISE.

BB HRS, IBMNEE—BRVHEENSEREE,

FEE_ERAORBRE<40C, HRFE_EXYIESRZIT.

—RMIRER, FE

Wide range of capacity and pressure.
Calibre: 50mm-300mm (2 "-12")
Capacity: RSW 2.5~171.1m3/min; TRS 1.14~166.49m3/min
Pressure: The pressure of one-stage RSW type up to
10000mmAq (1.0kgf/cm?)
The pressure of two-stage TRS type up to
20000mmAq (2.0kg/cm?)

= Delivers completely oil-free air.
“ Low oscillation and low noise by dynamic balance whichrevised

by computer.

Smaller change in capacity against change in pressure.

High efficiency due to special impeller design, great air-delivery
low power.

= Simpler and solider structure, less trouble.

Highest quality pilot & accurate great applied, long life and low
noise assured.

Standardized product with strict quality control.

Our rotor has used the most advanced technic, one time for all
working process of the six-shaft method, to enhance the
precision of leave wheel.

The special cooling design can efficiently reduce the tempe-
rature of the lubricate oil in the oil box and gear case, and then
make sure the blower’s gear and shaft having a long service life
operating under a high pressureo

TRS is a two-stage blowers in series, through two times press-
urize, the air in the blower can get a high pressure. Through
the condenser’s cooling system, the air discharged from the
one-stage blows outlet can be efficiently cooling down, the tem-
perature of the air at the suction inlet of the second stage blower
can be below 40 C, which can make sure the regular operation
of the second stage blower.



GREEN SAFE DEVELOPMENT

M2 259 B Externality construction

No. AR Name
1 R Motor
2 ANAEEZE  Inletsilencer
3 el Belt cover
1 4 St ) Pressure release valve
5 —BE T-joint
6 T 1R Check valve
7 BHIKE Cooling pipe
8 RALA R blower body
9 JE EE Bottom case
9
6
No. AR Name
1 ANEHEES  Inletsilencer
2 EHinE Belt cover
3 TRS—EZMAL  TRS one-stage blower
7 4 BREIKE Cooling pipe
5 JREE Bottom case
8 6 RIEEES Condenser
9 7 AL Motor
8 TRSZEEXAL  TRS two-stage blower
10 9 St A5 Pressure release valve
10 —EE T-joint

#1751 B Type description

RSW/TRS - 65
I— A48 (mm) Diameter (mm)

RSW/TRS1E % B 7% XAJl. RSW/TRS pressure boost roots blower




#ZE# B & Construction

1 KA Casing HT250 FC250

2 R E Bearing housing HT250 FC250

3 piiiE] Oil box HT250 FC250 ;E
4 FHA Oil splash Q235 $5400 , .
5 WAREER  Bearing washer Q235 55400 > ~ f 7 5
6 | BWMH  Fameworkoiseal | NBR NBR 71 ////// // /////(/ %
7 ki Pulley HT250 FC250 @i

8 FEhrE Drive rotor HT250 FC250 ®\ C
9 WEhH i Driven rotor HT250 FC250

10 | VEhE V-ring NBR NBR

11 TR Bearing GCr15 SuJ2

12 oSy Gear 20CrMnTi | SCM415

13 IEENE R Lock washer Q235 SS400

14 R4 £ Lock nut 45 S45C

15 prspiec Gear box HT250 FC250

16 | JHiEE Lubrication plug 45 545C

17 | tmieE Purge plug 45 545C

18 | JEMBMEIT Ol gauge Assembly | Assembly

BA{\ HAE 2% Conversion table

Tatm 101.325 101325 14696 10333 29921 33914 10333
1kPa 0.0099 1 001 0.145 00102 0.295 0335 75 102
1bar 09869 100 1 14.504 10198 2953 3347 750 10198
1 Ibt/in’ (psi) 0068 6.894 0.0689 1 00703 2036 2308 5171 703
1 kgf/em’ 0968 98.062 0981 14228 1 2896 3282 73553 10000
1inHg 00334 33863 00339 0491 00345 1 1133 254 3453
1ftAq 00295 299 00299 0434 00305 0.882 1 2242 3048
1 mmHg(Torr) 0013 0.1338 000138 0019 00014 0.04 0045 1 136
1 mmAq 0.000097 00098 0000098 00014 00001 0.003 00033 0074 1
------
1 m’/min 1000 16667 1016 35288
1l/min 0.001 1667 1.02 00353 EHEERE A
1cm’/s 0.00006 0.06 1 0.061 0.02 Pressure Conversion Formula
1in’/s 000098 0983 1639 1 0035 1 kPa=1000Pa=1000N/m’
Tmbar=10.198mmAq
1 ft*/min(cfm) 0028 2832 47195 288 1
TmmHg(Torr)=133.8Pa

] s



4 BE S 4] Performance parameters

Qs(m3/min) Pressure(mmAq) La(kW)

1450 537 2.57 599 2.50 6.61
1550 290 574 283 6.40 276 7.06
RSU/-50 1650 3.16 6.11 3.09 6.82 3.02 7.52 4
1750 342 6.48 335 7.23 3.28 7.98
1850 3.68 6.85 361 7.64 3.54 843
1950 3.94 7.22 3.87 8.06 381 8.89
1350 3.14 6.38 3.05 7.2 297 787
RSW-65 1450 348 6.85 339 7.65 331 8.46 6
1550 3.82 732 373 8.18 3.65 9.04
1650 4.16 779 4.07 871 3.99 9.62
1300 587 11.03 575 12.30 564 13.57
1400 6.47 11.87 6.35 13.24 6.24 14.61
1500 7.07 12.72 6.95 14.19 6.84 15.66
RSIV-80 1600 767 1357 755 15.14 744 16.70 8
1650 797 13.99 7.85 1561 7.74 17.22
1750 8.57 14.84 845 16.55 8.34 18.27
1850 9.16 15.69 9.05 17.50 8.94 19.31
1950 9.76 16.54 9.65 1845 9.54 2035
1200 742 14.47 7.26 16.12 7.1 17.76
BSV-100 1300 8.26 15.68 8.10 17.46 795 19.24 10
1400 9.10 16.88 8.94 18.80 8.79 20.72
1500 9.94 18.09 9.78 20.14 9.63 2220
1180 11.67 20.54 11.49 2291 11.33 2528
1250 12.53 2176 12.35 2427 12.19 2678
1320 13.39 2297 13.22 25.63 13.05 28.28
1390 14.25 2419 14.08 26.98 1391 29.78
RSW-125A 1470 15.23 2559 15.06 28.54 14.90 3149 12
1560 16.34 27.15 16.17 30.28 16.00 3342
1650 17.44 28.72 17.27 3203 17.11 3535
1750 18.67 3046 18.50 3397 18.34 3749
1850 19.90 3220 19.73 3591 19.57 39.63
1180 17.32 30.02 17.09 3348 16.87 36.94
1250 18.58 31.80 18.35 3547 18.12 39.14
1320 19.84 3358 19.60 3745 19.38 4133
1390 21.10 3536 20.86 3944 20.64 43.52
RSW-125 1470 2253 3739 2230 41.71 2208 46.02 12
1560 24.15 39.68 2392 44.26 23.69 48.84
1650 2577 4197 2553 46.82 2531 51.66
1750 2757 44.52 2733 49.65 27.11 54.79
1850 2936 47.06 29.13 5249 2891 5792
1180 24.09 41.00 23.79 45.73 2351 50.46
1250 2571 4330 2541 4829 2513 5329
RSW-150 1320 2733 45.59 2703 50.86 26.75 56.12 15
1390 29.18 48.22 28.89 5378 2861 5935
1470 31.27 51.17 3097 57.08 30.69 62.98
990 3061 52.09 30.23 58.10 29.88 64.11
1050 3284 5525 3246 61.62 3211 67.99
1110 3507 5840 34.69 65.14 3434 71.88
RSW-200A 1180 3767 62.08 37.29 69.25 36.94 7641 15
1250 40.27 65.77 39.89 73.36 3954 80.95
1320 42.87 69.45 42.50 7746 42.14 85.48
1390 4547 7313 45.10 81.57 44.74 90.01




4 BE S 24 Performance parameters

Qs(m3/min) Pressure(mmAq) La(kW)

990

40.39 66.97 39.97 74.70 39.57 8243
1050 43.25 71.03 42.83 79.23 4244 87.42
1110 46.12 75.09 45.70 83.75 45.30 9242
RSW-200 1180 4947 79.82 49.05 89.03 48.65 98.24 25
1250 5281 84.56 5239 94.32 51.99 104.07
1320 56.16 89.29 55.74 99.60 5534 109.90
1390 59.50 94.03 59.08 104.88 58.68 115.73
1050 58.80 94.71 5831 105.63 57.84 116.56
1110 62.62 100.12 62.13 111.67 61.66 123.22
1180 67.08 10643 66.59 118.71 66.12 130.99
RSW-250 1250 7154 112.75 71.05 125.75 70.58 138.76 25
1320 76.00 119.06 7551 132.80 75.04 146.53
1390 80.46 12537 79.97 139.84 79.50 15430
1470 85.56 132.59 85.07 147.89 84.60 163.19
600 64.17 113.54 63.19 139.29 62.27 161.39
700 7754 13247 76.56 159.94 75.64 184.23
800 90.90 151.39 89.93 180.59 89.01 207.06
900 104.27 17032 103.30 20125 10238 22990
RSW-300 1000 117.64 189.24 116.67 22190 115.75 25273 30
1100 131.01 208.16 130.04 242.55 129.12 27557
1200 14438 227.09 14341 263.20 142.48 298.40
1300 157.75 246.01 156.77 283.85 155.85 32124
1400 17112 264.94 170.14 304.51 169.22 344.07

] o



M EES %Y Performance parameters

Qs(m?3/min) Pressure(mmAq) La(kW)

1250 | 161 | 461 | 153 | 507 | 145 | 553 | 141 [ 599 | 137 | 645 | 135 | 691 | 132 | 737 | 127 | 783 | 121 | 829 | 118 | 875 | 114 | 921
1350 | 187 | 498 | 182 | 548 | 177 | 597 | 172 | 647 | 166 | 696 | 162 | 747 | 158 | 797 | 153 | 846 | 147 | 896 | 144 | 945 | 140 | 995
1450 | 213 | 534 | 208 | 588 | 203 | 641 | 198 | 695 | 192 | 749 | 1.88 | 802 | 184 | 855 | 179 | 908 | 173 | 962 | 170 | 1015 | 166 | 1069
TRS-50 1550 | 239 | 571 | 234 | 628 | 229 | 685 | 224 | 743 | 218 | 800 | 214 | 857 | 210 [ 914 | 205 | 971 | 199 [1028 | 1.95 | 1085 | 192 | 1142 33
1650 | 265 | 608 | 260 | 669 | 255 | 730 [ 250 | 791 | 244 | 851 | 240 | 912 | 236 | 973 | 231 | 1034 | 225 [ 1095 [ 221 | 1155 | 218 | 1216
1750 | 291 | 645 | 286 | 7.10 | 281 | 774 | 276 | 839 | 270 | 903 | 266 | 968 | 262 [1032 | 257 | 1096 | 251 | 1161 | 247 | 1225 | 244 | 1290
1850 | 317 | 682 | 312 | 750 | 307 | 818 | 302 | 887 | 296 | 955 | 292 | 1023 | 287 (1091 | 282 | 1159 | 277 |1227 | 273 | 1295 | 270 | 1364
1950 | 343 | 719 | 338 | 791 | 332 | 862 | 327 | 934 | 322 | 1006| 318 | 1078 | 313 [1150 | 308 | 1222 | 303 |1294 | 299 | 1365 | 295 | 1437
1250 | 284 | 662 | 278 | 729 | 272 | 795 | 268 | 865 | 263 | 935 | 256 | 998 | 249 | 1060 | 242 | 1126 | 236 | 1192 | 230 | 1258 | 224 | 1324
1350 | 318 | 715 | 312 | 787 | 306 | 858 | 302 | 929 | 297 | 999 | 290 | 1072 | 282 [1145 | 276 | 1216 | 269 | 1287 | 264 | 1359 | 258 | 1430
TRS-65 1450 | 352 | 768 | 346 | 845 | 339 | 922 | 335 | 994 | 330 | 1065| 323 | 1147 316 (1229 | 310 | 1306 | 303 | 1383 [ 297 | 1460 | 292 | 1536 40
1550 | 385 | 821 | 379 | 903 | 373 | 985 | 369 | 1057 | 364 | 11.29| 357 | 1222 350 [13.14 | 343 | 1396 | 337 | 1478 | 331 | 1560 | 326 |1642
1650 | 419 | 874 | 413 | 962 | 407 | 1049 | 403 [ 1127 | 398 | 1205| 391 | 1302 | 383 | 1399 | 377 | 1486 | 371 [ 1573 | 365 | 1661 | 359 | 1748
1200 | 466 | 1276 | 451 | 1403 | 436 | 1530 | 416 | 1658 | 395 | 1786 | 374 | 1914 | 353 2042 | 335 |21.69 | 3.18 | 2296 | 301 | 2424 | 284 | 2551
1300 | 526 | 1382 511 | 1520 | 496 | 1658 | 476 | 1796 | 455 | 1934| 434 | 2073 | 413 (2212 | 395 | 2350 | 378 | 2488 | 361 | 2626 | 344 | 2764
1400 | 586 | 1488 | 571 | 1637 | 556 | 1786 | 536 | 1935 | 515 | 2084 | 494 | 2233 | 473 2382 | 455 | 2530 | 438 | 2679 | 421 | 2828 | 404 | 2977
1500 | 645 | 1594 | 631 | 1754 | 616 | 1914 | 596 | 2073 | 575 | 2232| 554 | 2392 | 533 [2552 | 515 |27.11 | 498 | 2870 | 481 | 3030 | 464 |3189
TRS-80 1600 | 705 1700 | 691 | 1871 | 676 | 2042| 655 2212 | 634 | 2382| 614 | 2552 | 593 | 2722 | 575 | 2892 | 557 |3062 | 541 |3232 | 524 | 3402 56
1650 | 735 | 1754 | 721 | 1929 | 706 | 2104 | 685 | 2280 | 6.64 | 2456 | 644 | 2631 | 623 2806 | 605 | 2982 | 587 |[3157 | 570 | 3333 | 554 | 3508
1750 | 795 | 1860 | 781 | 2046 | 766 | 2232| 745 | 2418 | 724 | 2604| 703 | 2790 | 682 2976 | 665 |31.62 | 647 |3349 | 630 | 3535 | 613 |3721
1850 | 855 | 1966 | 841 | 2163 | 826 | 2360 | 805 | 2557 | 7.84 | 27.54| 763 | 2950 | 742 (3146 | 725 |3343 | 707 | 3540 | 690 | 3737 | 673 |3933
1950 | 915 | 2072 | 900 | 2280 | 885 | 2488 | 865 | 2695 | 844 | 2902| 823 | 31.09 | 802 [33.16 | 784 |3524 | 767 | 3731 | 750 | 3939 | 733 |4146
1200 | 731 | 1531 | 724 | 1684 | 717 | 1837| 700 [ 1990 | 683 | 2143 | 676 | 2296 | 669 | 2449 | 656 | 2602 | 643 |2755 | 632 | 2909 | 620 | 3062
TRS-100 1300 | 815 | 1658 | 808 | 1824 | 801 | 1990 | 784 | 2156 | 767 | 2321| 760 | 2487 | 753 [2653 | 740 | 2819 | 727 | 2985 | 7.16 | 3151 | 704 |3317 s
1400 | 899 | 1786 | 892 | 1965 | 884 | 2143 | 868 | 2322 | 851 | 2501 | 844 | 2679 | 837 (2857 | 824 |3036 | 811 [3215 [ 799 | 3393 | 788 |3572
1500 | 982 | 1913 | 975 | 2105 | 968 | 2296 | 952 | 2488 | 935 | 2679| 928 | 2870 | 921 [3062 | 908 |3253 | 895 |3444 | 883 | 3636 | 872 |3827
1100 | 1425 {2952 | 1394 3248 | 1362 | 3543 | 1359 | 3838 | 1356 | 4133 | 1324 4428 | 1292 | 4724 | 1251 | 5019 | 1211 | 5314 | 1164 | 5609 | 11.17 | 59.05
1180 | 1569 | 3167 | 1538 | 3484 | 1506 | 3800 | 1503 | 4117 | 1500 | 4434 | 1468 | 4751 | 1435 [ 5067 | 1395 | 5384 | 1355 | 5701 | 1308 | 60.17 | 1261 | 6334
1250 | 1694 | 3355 | 1663 | 3690 | 1631 | 4025 | 1628 | 4361 | 1625 | 4697 | 1593 | 5032 | 1561 [ 5368 | 1521 | 57.03 | 1480 | 6039 | 1433 | 63.74 | 1386 | 67.10
1320 | 1820 | 3543 | 17.89 | 3897 | 1757 | 4251 | 1754 | 4606 | 1751 | 4960 | 17.19| 53.14 | 1687 | 56.68 | 1646 | 60.23 | 1606 | 6377 | 1559 | 67.31 | 1512 | 7085
TR 126 1390 | 1946 | 3731 [ 19.15 | 41.04 | 1883 | 4477 | 1880 | 4850 | 1877 | 5223 | 1845| 5596 | 18.12 [ 5969 | 17.72 | 6342 | 1732 | 67.15 | 1685 | 70.88 | 1638 | 7461 74
1470 2089 | 3946 | 2058 | 4340 | 2026 | 4734 | 2023 | 5093 | 2020 | 5452 | 1988 | 5882 | 1956 63.13 | 19.16 | 67.07 | 1875 | 7102 | 1828 | 7496 | 1781 | 7891
1560 | 2251 | 4187 | 2220 | 4606 | 2188 | 5024 | 2185 | 5443 | 2182 | 5861 2150 | 6280 | 21.18 [ 66.99 [ 20.77 | 71.18 | 2037 | 7536 | 1990 | 79.55 | 1943 | 8374
1650 | 2412 | 4428 | 2381 | 4871 | 2350 | 53.14 | 2347 | 5757 | 2343 | 6200 | 2311 6643 | 2279 7085 | 2239 | 7528 | 2198 | 7971 | 2151 | 84.14 | 2104 | 8857
1750 2592 | 4697 | 2561 | 5167 | 2529 | 5636 | 2526 | 6106 | 2523 | 6575 | 2491 | 7045 | 2459 [ 75.15 | 24.18 | 7985 | 2378 | 8454 | 2331 | 89.24 | 2284 | 9394
1850 | 2771 | 4965 | 2740 | 5462 | 27.09 | 5959 | 27.06 | 6455 | 27.02 | 6951 2670 | 7448 | 2638 | 7944 | 2598 | 8441 | 2557 | 8937 | 25.10 | 94.34 | 2464 | 9930
1100 | 1891 {4013 | 1856 | 4415 | 1820 | 4816|1790 | 5217 | 1760 | 56.18 | 1736 6020 | 17.12 | 6421 | 1644 | 6421 | 1576 | 6421 | 15.16 | 7224 | 1456 | 80.27
1180 2077 | 4305 | 2041 | 4736 | 2005 | 5166 | 1975 | 5597 | 1945 | 6028 | 19.21| 6458 | 1897 [ 6888 | 1829 | 68.88 | 1761 | 6888 | 1701 | 7749 | 1642 | 86.10
TRS-150 1250 | 2239 | 4561 | 2203 | 50.17 | 21,67 | 5472 | 2137 | 5929 | 21.07 | 6385 | 2083 | 6841 | 2059 | 7297 | 1991 | 7297 | 1923 | 7297 | 1863 | 8209 | 1804 | 9121 o
1320 | 2401 | 4816 | 2365 | 5298 | 2329 | 5779 | 2299 | 6261 | 2269 | 6742 | 2245|7224 | 2221 7705 | 21.53 | 77.05 | 2085 | 7705 | 2025 | 86.69 | 1966 | 9632
1390 | 2563 | 5071 | 2527 | 5578 | 2491 | 6085 | 2461 | 6593 | 2431 | 7100 | 2407 | 7607 | 2383 | 81.14 | 23.15 | 81.14 | 2247 | 81.14 | 2187 | 91.28 | 21.28 10143
1470 | 2748 | 5364 | 2712 5900 | 2676 | 6436 | 2647 | 6937 | 2617 | 7437 | 2593 | 8009 | 2569 | 8581 | 25.00 | 85.81 | 2432 | 8581 | 2373 | 9654 | 23.13 | 10726
990 |2810 (6533 | 27.76| 71.86 | 2741 | 7839 | 2724 | 8493 | 2673 | 9146| 2637 97.99 | 2600 [104.52 | 25.72 |111.06 [ 2543 [117.59 | 2473 |124.12 | 2403 | 13066
1050 |3023 | 6929 | 2989 | 7622 | 2955 | 83.14 | 2938 | 90.07 | 2887 | 9700 | 2856 |10393| 2824 (11086 | 27.95 |117.79| 2766 |124.72 | 2696 | 13165 | 2626 | 13857
1110 |3237 | 7325 | 3203 | 8057 | 31.69 | 87.90 | 3152 | 95.22 | 31.01 | 10254| 3067 | 10987] 3032 (117.19 | 30.11 1245212989 |131.84  29.19 |139.17 | 2849 |14649
TRS-200A | 1180 |3490 | 7787 | 3451 | 8565 | 34.12 | 9344 | 3402 |101.23| 3353 | 109.01| 33.18 | 11680| 32.83 |12458 | 32.66 {13237 | 3249 [140.16 | 3179 | 14794 3109 |155.73
1250|3733 {8248 | 3699| 9073 | 36.64 | 9898 | 3652 [107.23| 3606 | 11548| 3574|123.73| 3541 |131.98 | 3525 |14022 | 3509 [14847 | 3440 |156.72 | 3370 | 16497
1320 |3985 | 87.10 | 3951 | 9581 | 39.17 | 10452| 3900 | 113.23| 3849 | 121.95| 38.15|13066| 37.80 (13937 | 37.75 | 14808 | 37.70 |156.79 | 37.00 | 16550 | 3630 |174.21
1390 |4228 | 91.72 | 41.94110090| 41.60 | 11007 4148 |119.24| 41.02 | 12841| 4067 | 137.58] 4031 (14676 | 40.30 {15593 14030 [165.10 | 3960 | 17427 | 3890 (18345

0s [}

120




4 BE S 24 Performance parameters

Qs(m3/min) Pressure(mmAq) La(kW)

990 | 3610 | 7466 | 3565| 8213 | 35.20 | 89.59 | 3480 | 97.06 | 3440 |10452| 337010995 | 3301 [ 11538| 3283 | 12489 3265 [13439| 31.75 | 141.85 | 3084 14932
1050 | 3890 | 79.19 | 3845 87.10| 3800 | 9502 | 3760 |10294| 37.20 | 11086 | 3648 | 116.74| 35.76 | 12262 | 3564 | 132.58| 3551 |14253 | 3461 | 15045 3371 |15837
1110 | 4160 | 8371 | 41.15] 9208 | 4070 | 10045( 4025 [10882| 3980 | 117.19| 39.16 {12353 | 3851 | 129.86| 3845 | 140.27| 3838 [150.68 | 3748 | 15905 | 3658 | 16742
TRS-200 1180 | 4480|8899 | 4435| 97.89 | 4390 | 106.79( 4350 [11569| 43.10| 12458 | 4241 {13111 | 4172 | 137.63| 4173 | 14891| 41.73 [160.18 | 4083 {16908 | 3992 | 17798 135
1250 | 4800 | 9427 | 4755 10370| 47.10 | 11312 4670 | 12255 | 4630 | 13198 | 4562 |139.03| 4494 | 146,08 | 45.00 | 157.88] 4507 (169.68 | 44.17 |179.11| 4327 |188.54
1320 | 5120 | 9955 | 50.75 | 109.50| 5030 | 11946| 4990 | 12941| 4950 | 13937 | 4882 |146.95| 48.15 [ 15452 | 48.28 | 166.85| 4842 (179.18 | 4752 |189.14| 4661 19909
1390 | 5440 |10483 | 5400 | 11531] 53.60 | 125.79| 53.15 | 136.27 | 52.70 | 14676 | 5203 | 15486 51.36 | 16297 | 51.56 | 175.83] 51.76 |18869 | 5086 |199.17 | 4996 |209.65
990 | 4960 [ 9799 | 49.15]107.79| 4870 | 11759| 4820 | 127.39 | 47.70 |137.19| 47.18 | 14699 | 46.67 | 156.79| 46.14 | 166.59| 45.60 17639 | 45.05 | 186.18 | 4450 | 19598
1050 | 5330 {10393 | 5280 | 11432| 5230 | 12472| 5185 13511 514014550 | 5089 {15590 | 5038 | 166.29| 49.86 | 176.68| 4935 |187.08 | 4884 | 19747 | 4832 | 20786
1110 | 5700 |109.87 | 56.50 | 120.86| 56.00 | 131.84| 5550 | 14283 | 55.00 | 15382 | 5454 |164.80| 5409 [175.79| 5359 | 186.78| 53.10 (197.77 | 5262 |20875| 52.15 |219.74
TRS-250 1180 | 6130 |116.80 | 60.80 | 12848| 6030 | 140.16| 5980 | 151.84| 5930 | 16352 | 5886 |175.20| 5841 | 186.88( 57.94 | 198.56| 5747 |210.24 | 57.04 | 22192 | 5661 |23360 150
1250 | 6550 |12373 | 6500 | 136.10| 64.50 | 14847| 6405 | 160.85| 63.60 |173.22| 63.17|185.59 | 6274 [ 197.96 | 62.29 | 210.34| 6184 (22271 | 6145 |235.08| 6107 |24745
1320 | 6980 {13066 | 6930 | 14372| 6880 | 156.79| 6835 [16985| 67.90 | 18292 | 6748 {19598 | 67.07 | 209.05| 66.64 | 222.11| 6621 |235.18 | 65.87 |248.25 | 65.53 | 26131
1390 | 7410 |137.58 | 7360 | 15134] 73.10 | 165.10| 7255 | 17886| 72.00 | 19262 | 71.70{206.38| 7139 220.14| 70.99 | 233.89| 7058 |247.65 | 7028 | 26141| 6999 |275.17
700 | 7390 16983 | 7290 18460\ 71.90 | 19937| 71.05 | 21598 | 70.20 {23260 | 6942 | 24638 | 6865 [260.17| 6747 | 27643| 6630 {29269 | 65.13 |308.95 | 6397 |325.21
800 | 8730 [19409 | 863021097 8530 | 22785| 8445 | 24684 | 8360 |265.82| 8281 |281.58 | 8202 [297.33| 8084 | 31592 7967 33450 | 7850 |353.08 | 7734 |37167
900 | 10080(21835 | 9980 237.34| 9880 | 25633| 97.95 | 277,69 | 97.10{299.05| 9624 |316.78 | 9539 [334.50| 9421 | 35541 93.04 (37631 | 91.87 |397.22 | 90.70 41813
TRS-300 1000 | 11410{24262 | 11310 26371| 112.10 | 284.81| 111.25308.54| 11040/ 332.28 | 109.58| 35197 | 10875|371.67 | 10758 | 394.90| 10641 [418.13 | 105.24|441.36 | 10407 | 46458
1100 |12760|266.88 | 126.60| 290.08| 12560 | 313.29{ 124.75|339.40 | 12390/ 365.51 | 12301|387.17 | 12212 | 408.83 [ 12095 | 43439 119.77 |459.94 1186148549 | 117.44 | 511.04
1200 |14100291.14 | 140.00| 316.46| 13900 | 341.77| 138.15|370.25| 137.30|398.73 | 136:40{422.37 | 13549 | 446,00 | 13432 | 473.88)133.14 |501.75 | 131.98|529.63 | 130.81 | 557.50
1300 |15460|31540 | 153.60| 342.83| 15260 | 37025(151.75|401.11| 15090 431.96 | 149.88|457.57 | 148.86 | 483.17 [ 147.69 | 513.37| 146,51 | 543.56 | 145.35|573.76 | 144.18 | 603.96
1400 | 16649|339.66 | 165.42| 369.20| 16434 | 398.73| 16342|431.96| 162.51|465.19 | 162.37|492.76 | 162.23 52033 | 161.05 | 552.86| 159.88 |585.38 | 158.71|617.90 | 157.55 |65042

200

) o



RSWHNME R T RSW Installation dimensions
fid A El‘_:l—ttlj H 7]*]%%% (RSW with horizontal outlet silencer)

=0

M
K=

{7 Unit: (mm)

RSW-50 180 150 140 412 1035 921 314 300 | 125 | 4-@018 | 4-M12x160
RSW-65 595 208 150 18 152 = 520 412 20 104 924 344 323 | 145 | 4-218 | 4-M12x160
RSW-80 795 256 180 22 180 - 700 482 20 106.5 | 1241 320 383 | 160 | 8-018 | 4-M12x160
RSW-100 795 280 180 22 180 = 700 482 20 110 1245 370 426 | 180 | 8-@18 | 4-M16x220
RSW-125A 1260 | 330 250 22 250 - 950 602 24 100 135 1840 | 402 485 | 210 | 8-@18 | 4-M16x220
RSW-125 1260 | 330 250 22 262 = 950 602 24 100 | 1575 | 1835 | 462 505 | 210 | 8-@218 | 4-M16x220
RSW-150 1260 | 378 250 22 250 - 950 602 24 100 | 1635 | 1860 | 5216 | 564 | 240 | 8-@23 | 4-M16x220
RSW-200A 1645 530 250 25 358 650 | 1300 | 790 30 160 198 2285 521 |5195]| 295 | 8@23 | 6-M20x300
RSW-200 1645 530 250 25 345 650 | 1300 | 940 30 160 194 2520 | 571 565 | 295 | 8-023 | 6-M20x300
RSW-250 1750 | 450 250 38 356 700 | 1400 | 940 30 160 216 2660 | 646 695 | 350 |12-@23 | 6-M20x300
RSW-300 1850 | 510 300 38 510 | 1000 | 2000 | 1030 35 250 300 2955 688 840 | 400 |12-223 | 6-M20x300
RN 1Y N . " .
fid FA 32 = HE O 5H 5 25 (RSW with vertical outlet silencer)
A B T

g

LT

[Rult o

—I{

B {7Unit: (mm)

RSW-50 314 | 412 103.5] 921 | 520 140 150 | 180 | 595 | 125 | 4-@18 | 635 | 4-M12x160 | 4-M12x120
RSW-65 323 | 344 | 412 | 20 80 | 104 | 924 | 520 = 152 | 18 | 150 | 208 | 595 | 145 | 4-©18 | 54 | 4-M12x160 | 4-M12x120
RSW-80 383 | 320 | 482 | 20 80 |106.5 (1241 | 700 - 180 | 22 | 180 | 256 | 795 | 160 | 8@18 |415 | 4-M12x160 | 4-M12x120
RSW-100 | 426 | 370 | 482 | 20 80 | 110 |1245 | 700 = 180 | 22 | 180 {280 | 795 | 180 | 8@18 | 35 | 4M16x220 | 4-M12x120
RSW-125A| 485 | 402 | 602 | 24 | 100 | 135 |1840 | 950 - 250 | 22 | 250 | 330 | 795 | 210 | 8@18 | 45 | 4-M16x220 | 4-M12x120
RSW-125 | 505 | 462 | 602 | 24 | 100 |157.5|1835 | 950 S 262 | 22 | 250 | 330 [1260 | 210 | 8@18 |67.5 | 4-M16x220 | 4-M12x120
RSW-150 | 564 |521.6| 602 | 24 | 100 {163.5|1860 | 950 - 250 | 22 | 250 | 378 [1260 | 240 | 8-@23 |535 | 4-M16x220 | 4-M12x120
RSW-200A | 519.5| 521 | 790 | 30 | 160 | 198 |2285 | 1300 | 650 | 358 | 25 | 250 | 530 [1645 | 295 | 8-@23 | 102 | 6-M20x300 | 4-M12x120
RSW-200 | 565 | 571 | 940 | 30 | 160 | 194 |2285 | 1300 | 650 | 345 | 25 | 250 | 530 [1645 | 295 | 8-@23 | 98 | 6-M20x300 | 4-M12x120

08 [}



TRSHMZ R ~FE TRS Installation dimensions

1

cl

A

Ea{7Unit: (mm)

TRS-50 1150 [2x430| 120 | 80 184 365 | 200 | 565 844 | 650 | 1000 | 18 150 160 | 595 320 | 110 4-018
TRS-65 1150 [2x430| 120 | 80 184 371 | 240 | 611 889 | 650 | 1000 | 18 150 180 | 595 320 | 125 4-018
TRS-80 1400 [3x300| 250 | 120 | 226 | 414 | 240 | 654 | 1214 | 800 | 1200 | 22 180 | 256 | 795 381 | 160 8-018
TRS-100 1400 [3x300| 250 | 120 | 226 | 414 | 250 | 664 | 1214 | 800 | 1200 | 22 180 | 256 | 795 381 | 160 8-018
TRS-125 1700 |5%300| 250 | 120 | 255 550 | 350 | 900 | 1790 | 880 | 1479 | 22 250 | 330 | 1260 | 560 | 210 8-018
TRS-150 1700 |5%300| 250 | 120 | 255 550 | 425 | 975 | 1833 | 880 | 1479 | 22 250 | 330 | 1260 | 560 | 210 8-018
TRS-200A 2000 |4x400| 200 | 160 | 358 785 | 600 | 1385 | 2173 | 1250 | 2000 | 25 250 | 530 | 1645 | 850 | 295 8-023
TRS-200 2000 |4x400( 200 | 160 | 358 785 | 700 | 1485 | 2169 | 1250 | 2000 | 25 250 | 530 | 1645 | 850 | 295 8-023
TRS-250 2150 |4x450| 175 | 160 | 354 785 | 555 | 1340 | 2497 | 1250 | 2000 | 25 250 | 530 | 1645 | 850 | 295 8-023
TRS-300 2900 |5x500( 200 | 200 | 500 | 1080 | 600 | 1680 | 2795 | 1500 | 2850 | 38 300 | 510 | 1850 | 1206 | 400 12-023

Ho B AR e

Anchor bolt

) o

M12 160 100x100 RSW/TRS-50,65,80

M16 220 45 275 |120x120| RSW/TRS-100,125,150; RSW-125A

M20 300 55 345 |150x150| RSW/TRS-200A,200,250,300A,300
Fr LEDFEAR/NRY, IRERFENTIRIEL, RELIR.

2GxGRH IR

SRR LR .

Note:1. The note E on the drawing is the minimum size, it shall be deepened properly according to the soill
condition in the installation place.

2. GxGlis the size of the preformed holes for the secondary casting.



N

Suction silencer

oc
o
<
oB
‘ \ %22 (JIS10K)
T 1 Flange
n-OH /1 QE
oF |

EMUH HOHE 28

B {7Unit: (mm)

SS50 133 150 120 155 | 4019 RSW-50 TRS-50
S565 550 159 190 | 280 140 175 | 4019 12 RSW-65 TRS-65
5580 820 219 245 280 150 185 | 8019 21 RSW-80 TRS-80
S5100 820 245 273 330 175 210 | 8-@19 27 RSW-100 TRS-100
SS125 | 1310 273 310 | 350 210 250 | 8023 45 RSW-125(A) TRS-125
S5150 | 1310 299 340 | 370 240 280 | 8023 52 RSW-150 TRS-150
$5200 | 1500 330 380 | 370 290 330 |12-@23| 81 RSW-200(A) TRS-200(A)
SS250 | 1700 400 480 | 550 355 400 |12-@25| 98 RSW-250 TRS-250
S5300 | 1825 500 600 | 650 400 445 |16-@25] 135 RSW-300 TRS-300

Horizontal outlet silencer

A= (JB/T 1.0MPa)

RN

0B

1__[' Flange

n-OH

M HHEES

Vertical outlet silencer

™

n ¢ Flange

n-QH

w
Q

w
Q

s
HT

I;d\i\ \ £ (JB/T 1.0MPa)

B8 {7Unit: (mm)

DS40 595 159 110 145 | 4-018 " TRS-50

DS50 595 159 125 160 | 4218 12 RSW-50 TRS-65

DS65 595 159 145 180 | 4-@18 | 135 RSW-65

DS80 795 219 160 195 | 8-018 24 RSW-80 TRS-80 TRS-100
DS100 795 219 180 215 | 8018 25 RSW-100

DS125 1260 290 210 245 | 8-018 48 RSW-125(A) TRS-125 TRS-150
DS150 1260 290 240 280 | 8023 51 RSW-150

DS200 1645 356 295 335 | 8023 79 | RSW-200(A) TRS-200(A) TRS-250
DS250 1750 405 350 390 |12-023| 98 RSW-250

DS300 1850 484 400 440 |12-023| 140 RSW-300 TRS-300

B 7Unit: (mm)

4-015

Flange

VDS50 | 420 | 120 | 150 | 140 | 125 | 160 | 4-@18 | 125 | 160 19 RSW-50
VDS65 | 480 | 130 | 175 | 191 | 145 | 180 | 4-@18 | 170 | 210 27 RSW-65
VDS80 | 595 | 145 | 200 | 216 | 160 | 195 | 8@18 | 190 | 235 369 RSW-80
VDS100 | 660 | 155 | 225 | 267 | 180 | 215 | 8-@18 | 230 | 280 518 RSW-100
VDS125 | 800 | 190 | 250 | 280 | 210 | 245 | 8-@18 | 240 | 300 65.9 RSW-125(A)
VDS150 | 920 | 210 | 300 | 356 | 240 | 280 | 8-@23 | 290 | 376 99.6 RSW-150
VDS200 | 1050 | 256 | 325 | 406 | 295 | 335 | 8-@23 | 350 | 425 1315 RSW-200(A)

10 )



—EE
"T" -joint

EE
(JB/T 1.

Flange

1% 1 5]

Check valve

QC

OA

NG

n-oF n-OH
=
|
ol O ofw
S8 Rc1/4" s
A
OMPa) 522 (JIS 10K)
Flange
it iR
Relief valve

{37 Unit: (mm)

HJ40 | 150|145 | 110 | 4-@18 | 1" | 155| 120 4-219 55 TRS-50

HJ50 | 150 | 160 | 125 | 4-@18 | 114" | 155 | 120 4-019 58 RSW-50 TRS-65

HJ65 | 150 | 180 | 145 | 4-@18 | 14" | 175 | 140 4-019 75 RSW-65

HJ80 | 180|195 | 160 | 8-@18 | 1'4" | 185 | 150 8-019 9 RSW-80 TRS-80 TRS-100
HJ100 | 180 | 215 | 180 | 8-@18 2" | 210 | 175 8019 11.5 RSW-100

HJ125 | 250 | 245 | 210 | 8-@18 2" [ 250 210 8-023 155 | ROW-125(A) TRS-125 TRS-150
HJ150 | 250 | 280 | 240 | 8-¥23 2" | 280 240 8023 18 RSW-150

HJ200 | 250 | 335 | 295 | 8-@23 3" | 330 290 | 12023 23 |RSW-200(A) TRS-200(A) TRS-250
HJ250 | 250 | 390 | 350 | 12-223 3" | 400 | 355 | 12925 30 RSW-250

HJ300 | 300 | 440 | 400 | 12-@23 |DN100| 445 | 400 | 16-@25 45 RSW-300 TRS-300

SE: DN100Jg3k = &

23 B/T1. OMPaflsE R <t
Note:Type DN100 is connect with flange.Refer to JB/T 1.0MPa.

B {7Unit: (mm)

V11" 145 RSW-40. 50 65+ 80 TRS-50~ 65+ 100
SV2" 24 185 1 RSW-100~ 125(A)s 150 TRS-125+ 150
SV3” 30 230 1.6 RSW-200(A)~ 250 TRS-200(A)~ 250
SV100 90 490 29 RSW-300 TRS-300

FE SVI0JAZER:, SEIB/T10MPaEZ R,
Note:Type SV100 is connect with flange.Refer to JB/T 1.0MPa.

B8 {7Unit: (mm)

DCV-50 1025 RSW-50 TRS-50 TRS-65
DCV-65 45 18 | 1225 14 RSW-65

DCV-80 5) 2 | 132 08 RSW-80 TRS-80 TRS-100
DCV-100 65 2 | 158 09 RSW-100

DCV-125 %0 2 | 19 12 RSW-125(A) TRS-125 TRS-150
DCV-150 s 2 | 25 15 RSW-150

DCV-200 160 25 | 268 26 RSW-200(A) TRS-200(A) TRS-250
DCV-250 180 38 | 325 125 RSW-250

DCV-300 213 38 | 375 185 RSW-300 TRS-300




TRSE 3k

TRS elbow
E2 (JIS 10K)
Flange
B {7 Unit: (mm)
5
/_ TRS-50 200 110 155 120 4-719
= < TRS-65 200 155 175 140 4-019
n-0d
TRS-80 220 168 185 150 8-019
TRS-100 250 164 210 175 8-019
|
S (IS 10K) TRS-125 300 202 250 210 8-023
Flange TRS-150 320 240 280 240 8-723
TRS-200(A) 315 315 330 290 12-@23

\@2 TRS-250 350 421 400 355 12-025

ﬁ \ \ a TRS-300 470 470 445 400 16-025
\g& /]

| =

B

TRS/)Q AtEs

Condenser
B {7Unit: (mm)
L
! 25 | g | 2 | 15 | 194 | 200 | 900 | 660 | 554 | 3/4" TRS-50
M 1ok ] 30 | g | 25| 2 | 237 | 240 | 1000 | 800 | 594 | 374" TRS-65
il s sos 35 100 | 3 | 3 | 193 | 240 | 1200 | 900 | 747 | 1 TRS-80
. N 40 | 10" | 4 | 3 | 199 | 250 | 1300 | 1000 | 795 | 1 TRS-100
o ; 50 [ 122 | 5 | 5 | 355 | 350 | 1400 | 1200 | 907 | 17 TRS-125
I 60 | 14" | & | 5 | 405 | 425 | 1500 | 1120 | 961 | 17 TRS-150
. -/ 80 | 16" | 8 | 8 | 600 | 600 | 1600 | 1200 | 999 | 17 |  TRS-200A
I b U g5 T 9 |18 | & | & | 700 | 700 | 1700 | 1250 | 1077 | 2 TRS-200
H W 100 | 20" | 10" | & | 520 | s55 | 2200 | 1800 | 1229 | 2’ TRS-250
‘ | | | 140 | 24 | 12 | 122 | 600 | 600 | 2600 | 2000 | 1571 | 2’ TRS-300
‘ JIS,10K,D1‘ ‘ JIS 10K D2 ‘
N A, vlaw
BLUE
BEIIOWS 2 {7Unit: (mm)
N o WIT-40 | 160 | @110 | @150 | 4018 RSW-40 TRS-50
|‘—‘| WIT-50 | 180 | @125 | @165 | 4-@18 RSW-50 TRS-65
a— WIT-65 | 208 | @145 | @185 | 4018 RSW-65
WJT80 | 256 | @160 | @200 | 8218 RSW-80 TRS-80~100
WJT-100 | 280 | @180 | @220 | 8218 RSW-100
5 8 WIT-125 | 330 | @210 | @250 | 8@18 | RSW-125(A) TRS-125~150
WIT150 | 378 | @240 | @285 | 8022 RSW-150
WJT-200 | 530 | @295 | @340 | 8@22 | RSW-200(A) TRS-200A~250
R WJT-250 | 450 | @350 | @395 | 12-922 RSW-250
£ (JB/T 1.0MPa) WJT-300 | 510 | @400 | @455 | 12-922 RSW/TRS-300

Flange

12 [



1515 BF Applications

PSSz

Water treatment

bkt

Conveying

S TR
automatic
baiting
machine

eyeal

Incinerator

TR AREHTAL

Brewery and beverage industry

REE

Fermenting plant

[
Spray finishing

JN

L

Car washing

cleaning agent

AT
Electroplate factory




MEIRRIFHER NIIEIN:
For further details, please fulfill the chart below.

xR ZIYNA
Customer Undertaker
TRREM TS
Name of project Address of project
R R
Telephone Fax
BRm BEEIRE%
, SRR Elevation Max relative humidity
Local condition L Hh A S E F1(MPa) TESRC0)
Local atmospheric pressure Max air temperature
B SRE(CC)
« SRR Name Temperature
Gas character R EH LB
Constituents Ratio of constituent
R (m*/min) A4&(mm)
)Bflfnf?l Capacity Diameter
W 3 .
parameter RE(mmAQ) B3 (/min)
Pressure Speed
ik HE(V)
- Type Voltage
bt ZE W)
otor's
Power Frequency
parameter
BRI HE
Pole Others
RERME ] ERRE ] BEMBR =R ] HE
Location Indoor install Camping outdoor install Others
o EE T E]ﬁﬁﬁﬂ%%ﬁ) E]Eﬁ%ﬂ
Driving mode Belt-driven(Standard) Direct drive
HEEX
Other requirement

i VUL BEERRETERE,
2IBRIME “* " &, BEVIET.

Notes: 1. Please fill in the parameter lists as complete as possible.
2.The item with“ * "must be filled.




SOUZRERCL N 7 G 8%

NI (A ) HURAIRAE
GSD Industrial Co.,Ltd.
RFEERBIE

800-820-1977

FEFARWMERE, BRSTEM.

We reserve the right to change content without notice.

CY-EB



	p00.pdf
	p01
	p02
	p03
	p04
	p05
	p06
	p07
	p08
	p09
	p10
	p11
	p12
	p13
	p14
	p15

